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Indices

2 9. Simplify

S 2
I m® xfm.

Ans 7

mZ

5 7. Remove brackets and simplify

N~

§ a (a% —2). 2
Ans a-2a A

14. The sum S, of the first # terms of a sequence, is given by the formula

— S,=3"-1.

Qo

~

(% (a) Find the sum of the first 2 terms. 1

() When S, = 80, calculate the value of x. 2

Ans| (@) 8 (b) 4

N (b) Expand

©

S by 2

S m?(2+m”). 2
ANS | om’2 4 m”

) (b)) Evaluate 20+ 37 5
<

=

S

~

Ans

(6)13

5 12. (a) Evaluate

N 2

S 83, °
Ans | 4
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o 11. Express in its simplest form
o
o
N »¥x 7 2
Ans 11. y2
11. The intensity of light, I, emerging after passing through a liquid with
concentration, ¢, is given by the equation
I= 2—? c20.

- 2
o
S
I (@) Find the intensity of light when the concentration is 3. 1

(b) Find the concentration of the liquid when the intensity is 10. 2

(¢) What is the maximum possible intensity? 3
ANS |11, (a) 1:-2-5;9

B c=1
(¢) 2°is a Minimum
2°=1
=20
. 9. (a) Remove the brackets and simplify
o
S
I a’ ( a+ %) 2
Ans i 31
9. (@) a+— OR a’+a’
aZ
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